18-12=6




3) —90

8_

® 3, 4, 5,9, 15, 30
@ 3, 4, 6, 10, 15, 20

3) 8¢

’7_

o1t

6(6-3) _

D)3, 4, 5, 9, 14, 20
® 3,4, 6,9, 15, 20
® 3, 4, 6, 10, 16, 20

a4
Py

N
=Ko




£ Wo] olg} 7o) =7)7} et
_Z'“_

9] 471 15 Aoltt.

T
&=

o

o
=

18




@ 6+1=6("H)
@ 2x5=10(7H)
® 2x5=10(7H)
@®64+1="70M)
® 2x4 =8(7H)

e

AL Oolt.




5. = E7|A HAE BT 21=?

H7]
Q O AH71E © ¥971s
® dEd @ *7E ® AP
ORQ) @ 0,6 ® 0,6
@)9,6,® ® 9,6,6,0




Ch 2 oA x 9 gh2?

22—5°

3r—25

O 30° @ 32° @ 34° @®)35° ® 40°

x+ (2x —5°) + (3x —25°) = 180°
6x = 210°
oo /x = 35°




7. oL a1/ mola, k//n D W, a+ sd O 279

k n
[/
a [¢
b

®or @100 @100 @1soc ® 2000

e+ /d =180°0]2 Z} /a2t sc7F Zom 2 The 1500 o]},




o ™A 1/ /m Qo zx + 2y &) A7)

=7

D 180° @ 185° @ 190°
@195° ® 200°

75°>\

SN

Lx = 180° — 75° = 105°
Ly = 15° + 75° = 90°
" Lx+ Ly = 105° + 90° = 195°




% A7k el A ol 8 4 9]

=

oo

oflh

A

rr
tlo
\h‘ﬁ

129 F Jelr?

@ 3cm, 3cm, 3cm © 3cm, 4cm, Sem

© 2cm, 3cm, Scm ® 4cm, 4cm, 10cm

© b5cm, Gem, 8cm

@ 174 @ 27 @37H @ 474 ® 571

@ 4
©
®m!




10.

BC 9] 7019} /B ©] 37)7} Fol & ul, & /b 248 ¥ 57}

AABC & 2ot al girt, o] of, o Qs 2% BF It

A2

@® «C @ AB, CA, /C ® AB

@ AB,CA @®)asB, «
AB 9 Zol7t FolAAY £C o 2717} FolX W H2Fe]
A o ngFn 27171 stz Ao A= Aol FgEHE=
AABC £ #&=g 4= 9t

A




11.

the JFo A A47HE ABC 9F 478 ADE &= #¢
/BFE - /CAD ¢&] 27]|& tstoiet,

rlo
AL
%
N
N
2l
o
i)

A

\4
n
o

A

E
3,
C

B =
D

AABG €} AAEH oA AABC ¢} AADE = H5-¢1 A4zt o]

==

AB = AE, /ABF = /AEH = 60°,

(BAG =60°- /GAH = /tEAH

.. AABG = AAEH (ASA 3%)

u}2kA] FD = FC ©]1, GF = FH °|t}.

(GFD = (HFC (%&%]Z}) 0|22 AGFD = AHFC (SAS 3%)

(BFE =/b , /CAD =/a , /GFD =/x =t 5IH

(AGB =/a+60° =180 - (2x+60°) .. Lx=060°— za

/BFE = 180° — /x = 180° — (60° — Za) = Za+ 120° = /b

/b —/ta=120°




=9, n=6

n(n—3)

ojil o] ATt 7 Aoln=

Aol

2]




1 1
{9x6><§+(9+4)><4x§} x 14 = (27 + 26) x 14 =

742 (cm?)




14. o5 H7]9A &2 8= 1=w?

omnr J
(0]
[\
4
i
B
l.n
ok
>
30,
i)

@"I’L’E @’—l’L,E,E

® 1, v T, 2,0
L

T. 82.5° = 60° + (45° + 2)
0. A7) ASRA 0] ALk it elojo] 7o) FEEAL
453 4 gir.




15.

thS 104 oABCD = AB = 6
BEP QY Hol7t 22 o, x &7

Ar= =D
N

@ @1.5n ® 27 @ 257 ©® 3n

~&B

OABCD 9] Yo]o} 2|1 & ABE 9] Yo7l Zomg
6Xx = 1 X 7T X 62
6x =

©

T

X o=

N | w

7= 1.57(cm)




